g X EREARBRONT T HIHHEE I B LB A0 (HARANDHR) SRR 294F5 A 1 H BILE
T 4 W% B & 3t T 4 R B & 3 T 4 WEK B & 3t
WAL T H 229 197 261 458 [ THT 254 209 232 441 |Fiu1TH 1,437 1,123 1,239 2,362
A2 7 H 237 200 219 419 | —-E5HT 355 303 339 642 [FIL2TH 3,296 2,168 3,230 5,398
3T H 273 192 225 417 (5T 56 54 55 109 |Fu3TH 499 440 419 859
A4 7TH 2,017 1,636 1,536 3,172 [HA 0T 68 50 48 98 |& AT 3,803 3,311 3,301 6,612
AT 249 202 198 400 |FFLHEFRT 1,074 958 1,092 2,050 [HARTITH 1,945 1,550 988 2,538
=4 874 747 820 1,567 |VH FHFHT 893 778 795 1,573 |G AMT2T H 2,093 1,657 1,307 2,964
PUAR T 1,375 1,051 1,083 2,134 |FRyEThT 236 194 228 422 |5 ABT3TH 2,371 2,332 2,652 4,984
HHE1ITH 1,280 1,177 1,172 2,349 |FEfEHRT 665 621 665 1,286 A AHT4T H 1,450 969 1,355 2,324
K%ZTE 432 386 382 768 |4&3HT 362 312 331 643 | KRARLITH 1,833 1,344 1,140 2,484

#3TH 562 434 465 899 |¥AJFHT 439 421 478 899 | KAM2T H 3,786 2,940 2,636 5,576
’E%TFHT 790 671 673 1,344 |Fa®T 372 365 400 765 | KALR3T H 1,938 1,828 2,031 3,859
L) 981 696 815 1,511 [dEHT 505 450 524 974 |F&HERT1 T H 98 73 81 154
{EIRIT 539 403 480 883 |HFHT 494 415 465 880 |VEEFfEM1T H 2,945 2,276 2,487 4,763
FE T 1,200 1,060 1,187 2,247 |Fg IL{RHET 364 318 317 635 |ViRFfEmE2T H 2,994 2,443 2,346 4,789
FEAHT 1,445 1,016 1,080 2,096 [ALiLifRmT 295 189 240 429 |FERAGH3T B 3,326 2,990 2,881 5,871
JHAT 934 646 652 1,298 | HERAT 701 579 734 1,313 |EHESR1ITH 2,247 1,873 1,737 3,610
FfENT 815 623 664 1,287 | F'&r LLHT 154 98 117 215 |BHES2TH 1,003 785 695 1,480
KA HT 2,025 1,532 1,840 3,372 | K 3kelT 2,478 2,168 2,420 4,588 |EHESS T H 3,335 2,599 2,294 4,893
85 T 2 2 0] RESEL 506 428 467 895 |mHESH4ATH 3,315 2,806 2,642 5,448
PN T 656 600 528 1,128 /& F 1T 406 281 329 610 | F&A1TH 1,310 941 891 1,832
JFT 245 189 169 358 |HHT 256 260 262 522 | F%A&2TH 1,649 1,509 1,568 3,077
HFEl1T H 2,708 1,914 1,781 3,695 |EEEnT 402 281 308 589 [F#%A3TH 2,362 1,912 2,287 4,199
HE2T H 778 586 478 1,064 |HE=5HT 544 392 417 809 | F&A4TH 2,300 1,971 2,156 4,127
HE3T H 102 91 54 145 |54\ IEHT 566 361 531 892 |#EA1ITH 1,976 1,575 1,578 3,153
4T H 228 187 111 298 |Hr/ N7 1,777 1,443 1,500 2,943 |H¥%E2TH 2,525 2,225 2,295 4,520
HFEs5T H 1,752 1,270 961 2,231 |FHsin] 5= 0 0 0 0 EP(%/\STE 2,190 1,895 2,040 3,935
HrEe T H 2,454 1,908 1,547 3,455 | i SR SFHT 1,880 1,460 1,539 2,999 |H¥%E4TH 1,568 1,458 1,402 2,860
HE7T H 3,554 2,915 2,653 5,568 | HinmT 854 577 682 1,259 | E%A1TH 3,015 2,501 2,474 4,975
HAEZET1I T H 180 145 66 211 |z o7 1,128 1,006 1,115 2,121 | L% A2TH 2,996 2,356 2,216 4,572
WELRT2T B 1,549 1,221 551 1,772 |FR%E Ty 754 594 603 1,197 | E%A3TH 2,886 2,186 2,086 4,272
HAmEITITH 16 9 18 27 | Rpmy 691 485 573 1,058 |E%A1T H 2,495 2,092 2,149 4,241
A mET2T H 335 239 338 577 |fEHT 423 309 303 612 |WE¥EA2T H 2,363 2,019 1,999 4,018
i mHET3T H 184 152 176 328 | FAEHET 190 136 141 277 |W%AE3TH 1,706 1,379 1,565 2,944
EAZNGLI} 1,613 1,442 816 2,258 |H-fig MHET 616 444 508 952 E(%/%TE 1,152 1,005 1,095 2,100
e HEITIT A 104 101 122 223 | 5-Fd H FE AT 394 352 353 705 [+ H1TH 1,132 908 699 1,607
rh"ﬁ‘@iﬁﬂ]mTE} 229 170 238 408 |B5 ~HT 288 238 226 464 |"FH2TH 1,509 1,406 1,499 2,905

A LJFET3T H 418 405 452 857 |JFHT1 T H 785 641 711 1,352 |dt# =1 T H 3,902 2,932 2,595 5,527
*"Z{WWT 220 203 223 426 (JHHT27T H 643 603 580 1,183 |dt#FmE2T H 2,875 2,521 2,274 4,795
HANERT1T H 23 16 25 41 |JRET3 T H 1,020 755 884 1,639 |dt#HmE3 T H 3,724 2,942 2,711 5,653
A INERT2T B 951 699 1,001 1,700 [EAF0T 1,018 901 896 1,797 |dtFmE4 T H 3,400 2,694 2,415 5,109
EALI=L0) 367 327 371 698 |ZE T 302 250 286 536 [FEHE1 T H 37 30 30 60
AR T 63 70 79 149 |77 KHT 1,771 1,467 1,547 3,014 |WE#HE2T H 3 3 4 7
iR 0T 103 52 92 144 | HHy 345 333 360 693 |VEH1E3 T H 1,248 812 901 1,713
EAY A 22 24 28 52 |1k T 2,035 1,473 1,535 3,008 |FEH 4T H 4,573 3,466 3,107 6,573
EAIN} 283 246 268 514 |&fHT 361 287 277 564 |TEHES5 T H 2,115 1,510 1,327 2,837
DA 62 50 67 117 |/KEHT 592 418 445 863 |FE#TE6 T H 1,968 1,520 1,393 2,913
YT 1T H 13 14 16 30 |F-Aw M e 3,176 2,501 2,479 4,980 |"EEE7 T H 1,505 1,159 861 2,020
Y2 T H 136 90 126 216 |[{EEHT 1,652 1,228 1,303 2,031 |lEHEST H 1,904 1,395 1,306 2,701
Y3 T H 299 233 214 447 |THA BT 765 637 621 1,258
AT AT H 94 81 90 171 (TD][”T 1,226 1,110 1,085 2,195
YT 5T H 376 303 392 695 A FAHT 2,946 2,375 2,521 4,896
Y6 T H 566 390 479 869 |4 THT 2,326 1,895 1,957 3,852 = At 185,447 149,445 149,490 298,935
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